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1. INTRODUCTION

We consider nonparametric regression

Y = m(x)+ & ay

where

Y m(@

is a dependent variable.
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. On that base we need to construct an upper confidence

Pim(x)< mi(x)}> y

is a known weighted function.
Furthermore we have a sequence of independent observations



Usual way [DiCicco and Efron, 1996] consists of using a consistent and
asymptotic normal distributed estimate m x) m(x)

' " 2
m x - m x and variance G . ) that are replaced by
colTesponding estimators.

The resampling approach [Wu. 1986. Andronov and Afanasyeva, 2004]
gives an alternative way that can be described as follows. For fixed point
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Averaging method and Median smoothing method for n%(x)

Pr, (x) = Plm(x)< ii(x)}
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2. AVERAGING METHOD

At first we consider the method of kernel regression estimation [Hardle
etc., 2004]. Let aJ(mHﬁe@:.;‘;;;i:f;::‘::::;‘;5?’“““““ e
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The resampling procedure gives us sequence n%l (x), n% (x) T R (x)
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At first let us calculate the second moment:
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Now the variance can be calculated by formula

[ [ [
Var(m(x))= E(m(x)) - (E@m(x))y.
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Further
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Therefore
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Lemma 1
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